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Run 5881 quartetwize, Sumsl
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Run 5881 quartetwize, Asyms LSbgl

=== Laser O -—
Entries: 55836
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Eniries: 53122
Mean: -0.0005 «/- 0L000Z
Sid Dey: 00726 - 00002

Run 5881 quartetwise, Asyms Horiz Fingar

0.5

=== Laser ON -—

Enlries: 55826
Mean: -0.00%9 < 00013
Sid Drey: 03368 -~ 00070

=== Laser OFF ---
Entries: 53122
Mean: 00013 «- 0.0017
Sid Dey: 03972 - 00072

i

2500

000

2800

20010

1500

100k

500

2800

20010

18010

1001

500

G000

SO0

000

2000

100k

Run 5881 quartetwize, Asyms UShg2
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=== Lager OFF ---
Entries: 53122
Mean: -0.0002 «- D000
Sid Dev: 000126 - 00007

Run 5881 quartetwize, Asyms DShg2

=== Laser O -—-
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Run 5881 quartetwize, posHEI vs time
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Run 5881 guartetwize, negHO vs time
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Run 5881 guartetwize, negH4 vs time
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Run 5881 guartetwize, USbg1 ve time Run 5881 guartetwize, USbg2 ve time
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